CS121/IS223
The selection sort

Selection sort

If array has n elements, requires n-1 passes.  Each pass goes through the array and locates the smallest value remaining.
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In a selection sort, the smallest number in the array is located first, and then it is swapped with the one in the first location (location 0).  Then the smallest number in the array starting at location 1 is found.  It is swapped with the one in location 1.  This continues until the next to the last one is found and swapped.  At that time, all of the values are in order.

